Arrays and Pointers
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int hof[] = {20, 33, 8, 4, 5};
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int *dynamic = malloc(sizeof (int) * size);
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int a2D[3] [4] = {{11 2/ 3/ 4}! {51 6/ 7/ 8}, {9, 10, 11, 12}};
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int **dynamic2D;

dynamic2D = malloc(h * sizeof (int *));
for (int i = 0; i < h; i++)

{

dynamic2D[1i] malloc(w)* sizeof (int));

for (int j = 0; j < w; ¥9++) { /* initialize ind elts */}

}
for (int i = 0; i < h; i++)

{ _ _ J fra e c0
free (dynamic2D[i]) ;

}

free (dynamic2D) ; ") fra AAY of Toub
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Backtracking

Problem: given positive integer n, determine how to write n as the sum of as few squares as possible

E =12 2

Examples: 5=12+2 A y
12 =22+2%+22 | <
2018 =132+432 7
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recursion on partial solution:
if partial solution is 1+1+1, ' . oludton
find best solution for 1+1+1+1 F‘r c“'k I":“ ‘[‘:4_ o .J‘ | ¢l ".
find best solution for 1+1+1+4 add "} b P‘l «l Galuhin
find best solution for 1+1+1+9 l'tWﬂN¢7 opfimiw e now parkal solubm
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Revisit this problem later in the semester? (dynamic programming)
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